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SECTION - A (30-Marks)
Q-1 Encircia the comrect aption. Each part carmes squal marks. (30
i Which of the following clemenis is 2 metalloid -
a Gald % Sulphur (¢} lron ‘ Silican
1) Force applied per wnit .m W
] Buay mincy it w (3] Friction idj N
i) When son boat & metal peece. it Ratiens and beeomes thinmes, Thin is becames are:
([} Fienible ‘ Salleabis ic Iense Id‘|

fiwi Lrreen hosss trags:
(a) Carbon-disvide gy Heal feh  Ligh

(v) Which af the following is an jonic compound?
fa H) bl Gl o) CHAY t‘ Nacl

(vih The device that is used to protect 2 cireuil szainse 1
i3} Heater @ Fuc lr::}* (dy  Swiich
s \ﬁ.

vl The wond sod i derved from Latin word = ming:

S Scur (b}  Sweet ll-h‘lrr idy  Sahy
ivhii}  Which of the following i sl an

ja}  KOH ib) u:éb )y CalOHp:
iy Which is the largest part |

{a)  Brain stem  (h) lamuy ici  Thalamus ﬂ‘ Cerebrum
it feenes are present on

fa)  DNA romosomes (¢} noclous iy nucleotide

{xi}  The reaction and water prraduces:

(b i€y Nald di  Nay Oy

(b}

[ln elliptical (€1 Im:uhr (di spherical

fthe following is not chemical change:
burming  (b)  haking (¢} cooking 0} cuning

{a)  walking ﬂ-ll cating ‘ breasthing  (d) reading

{av) Which of the fallowing growp contain slkali metals?
t‘ 1A ihi 1A (c) 1A 4 e
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tavil The Hghit passing Trom bir to glass will cause the speed of lght to:
(a) remain the same (b) increase 1) decrense id) reduce 1o Zero

(ava] Deficiency of insulin hormone cause:
(it dinbetes il heart disease (c) bypertension (d)  epilepsy:

(vl Device used im submarines (o see what is going on the surface of waler:
(@) Microseope (W) Telescope (o) Periseope (4} Siethiseope

{xing  The S1unbt of vallage is:

I,:l!..r Vali ihi Amperes (el (Hhm () Wan
ixxd Al of the following invalve migosis EXCEFT:

(a) samuie formation (1) In'illing: of wounids jc) growth d) development
{anid Wihch tvpe of mirror s used i solar cooker?

(a) I"lane (i} Canves ") { omcave () Flat
{xxii) There are 1vpes of nitrogenous hises i DNA:

(b 2 & 4 le) 3 id} 5
Caniin) Fat aod oil when mixed with alkali forms:

Wl seap (h}  shampoo te)  plastic (d}  toothpaste
(xxiv) Most common type of palaxies inthe universe are:

(ay Spiral {I-i]' ElHpticil ic) lrregular id) Regular
{xxv) Any change in the envicnnment which bas some inMluence on living organismy is called:

{np  elfector {h} = _response (<l slimulus idy  receplar
(xxvi) Aguaric life om carth iy

{n) D6 ) D5 % a D% oy 97%

(vwvii) The atmospheric pressure will be lowest: |
(#) in Islumabad  (b)  in Lahere (¢}  in Korachi ©d)  omtop of k-2

(xaviii) The organism that kills the other for food is called:
() prey (h)  parasite () puthogen _fly  predator

(xxiv) Erobiotics are made up of good: . .
) Bacteria ihj Yirus 4] Funis (d) Antibodies

{xxx) The study of the charucter and evolution of the universe is called:
{u) space lechnology (b)) astronomy 5 cosmalogy  (d)  agronomy
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SECTION - B (40-Marks)

Q-2. Attempt any TEN parts of the following. Each part carries FOUR marks. (10x4=40)

Q-7.

i
(i)
(i)

iv)
v

(vi)
ivii)
{wiii)
(ix)
is)
(xi)
(xii)
(i)

ixiv)

(xv)

Note:

(=)
ib)

(1)
(b)

(a)
(b)

(2)
(b)

(a)
(b)

Why is it dangerous to touch a live wire while standing on carth barefooted?
What happens to the human body if the spinal cord is damaged?

With the help of examples explain the difference between double displacement
reaction and displacement reaction.

Why are large convex mirrers fived at blind turns of mountaing?

What is white light? How is the color of light related to the reflection

and absorption of light?

Investigate how current flows through a circuit without a potential difference.

Elaborate on the working of UPS.

Why will the Sun not become s black hole?

How can you define mutualism? Describe with some examples.

Explain and illustrate the difference between variation and adaptation.

What is the significance of fermented food?

Metal wires can be transformed into different shapes without breaking. Why?

Balance the equation.

(=) H:i+0y — 0O

ih) 24gC1 ——» A+ (1

(4] Mg+ HCl ——— MgCl: + H

id) NHy ——» N+3H:

Differentiate hetween strong and weak acids?

If there are many forces acting on an object, how can the net foree be LZERO?

SECTION - C (30-Marks)

Attempt any THREE questions and draw a diagram where necessary. (3x10=30)
Describe how encrgy flows from producers to consumers. (5)
Differentiate between reflex arc and reflex action and explain the pathway

fallowed by nerve impulse in a reflex arc. (5
How is the pressure related to force and area? (5)
Explain resistance as the opposition to the flow of charge. What is the
Relationship between voltage and resistance? (5)
Differentiate between ionic and covalent bond. Explain your answer with the
help of examples. (5)
Copper is a good conductor of electricity and plastic is a good insulator.

Explain with an example. (5)
Describe the process of mitosis in detail. (5)
Give some important applications of biotechnology in agriculture
and livestock. (5)

(%)

Describe acids and bases with at least two examples of each.
How is the visibility of a non-luminous body possible in the presence of light? (5)
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